IBPS PREVIOUS QUESTION PAPERS:
1.A sum of money amounts to Rs.6050 in 2 years and to Rs.6655 in 3 years at C.I. being compounded annually. Find the sum and the rate?

a) Rs.5000, 10%
b) Rs.6000, 20%
c) Rs.8000, 10%
d) None of these
2.A manufacturer sells an article to a wholesale dealer at a profit of 20% and the wholesale dealer sells it to a retail merchant at a loss of 5%. Find the resultant profit or loss%

a) 14% loss
b) 14% gain
c) 12% gain
d) None
3.A man can row 6 km/hr in still water. If the speed of stream is 2km/hr, it takes him 3 hours to row to a place and back. How far is the place?

a) 16 km
b) 10 km
c) 12 km
d) 8 km
4.A boat traveled from A to B and back to A from B in 5 hours. If the speed of boat in still water and the speed of stream be 7.5 kmph and 1.5 kmph, then what is the distance between A and B?

a) 80 km
b) 45 km
c) 18 km
d) 19 km
5.A mixture of 66 litres of milk and water are in the ratio of 5 : 1, water is added to make the ratio 3 : 5. find the quantity of water added.

a) 20 litres
b) 18 litres
c) 22 litres
d) 24 litres
6.40 litres of mixture of milk and water contains 10% of water. The water to be added to make water content 20% in the new mixture is ….

a) 6 litres
b) 6.5 litres
c) 5.5 litres
d) 5 litres
7.A clock which loses 50 seconds every two minutes is set at 6.00 P.M. on a certain day. What is the time shown by this watch if the current time is 3.00 P.M.?

a) 4 P.M.
b) 9 P.M.
c) 5 P.M.
d) 6 P.M.
8.Today is Tuesday. What day of the week it was 124 days before?

a) Wednesday
b) Thursday
c) Tuesday
d) Wednesday
9.In a km race, P beats Q by 25 m or 5 sec then find the time taken by P to complete the race.

a) 3 min 15 sec
b) 4 min 20 sec
c) 2 min 30 sec
d) 5 min 10 sec
10.9876543210 is divisible by

a) 5, 9 & 11
b) 5, 9 but not by 11
c) 9 & 11 but not by 5
d) 11 & 5 but not by 9
    



    
